Multiplication d'un Binome par un Trinome (C)

Simplifiez chaque expression.

1 (—=8m* — 8m?)(—m* — 4m?® — 9Im?)

2. (6¢° — 2¢*)(—=9¢* — 6% — )

3 (=8 —75)(9s% +3s — 1)

L (4¢° — 4cM) (=T + 3¢+ 5)

(—2° + 20") (52" — 32° — T2?)

Ot

(=312 4 3)(—f° —4f* + 8f)

fan)

-3

- (5c* + 6¢)(—8c* + ¢+ 5)

8. (—4k® — 5k (8k* + 6k% — 2k?)

(TP =561+ T = 9f%)

e
N®j

10, (—4t* + 3t) (=3t + 4% + 2t)
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Multiplication d’'un Binome par un Trinome (C) Réponses

Simplifiez chaque expression.

1 (—=8m* — 8m?)(—m* — 4m?® — 9Im?)
= 8m® + 40m' 4 104m° + 72m°

2. (6¢* — 2¢%)(—9¢* — 6¢° — )
= —54¢” — 18¢% + 6¢° + 2¢

w

3 (=8 —75)(9s% +3s — 1)
— 95" — 66s% — 20s° + 7s*

1 (4 = 4 (=72 + 3¢ +5)
= —928¢" +40c% + 8¢° — 20

(@x

(=2° + 22h) (=5t — 32 — Ta?)
= 50" — 725 + 2" — 142°

6. (=32 +3/)(—f° —4f* + 8f)
=317+ 9f* —36f° + 247

7. (5c* + 6¢)(—8c* + ¢ + 5)
= —40c* — 43¢3 + 31¢% + 30c

8. (—4k® — 5K (8k* + 6k% — 2k?)
— 32Kk — 64k® — 22k7 + 10K

0. (T = 5fN (=6 + 7% —9f%)
— 420 47945 — 0817 + 45 f0

10, (—4t% 4 3t) (38" + 4% + 2t)
= 12" — 25t% + 4¢3 + 6t
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